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GROUP - A

1. Answer any three questions 3x4=12

a) A consumer has the [ollowing utility function u = 3C + 4T where C dcnotes
coffee and T denotes Tea. Initially consumer consumes both tea and coffee.

How would a tax on coffee alter the individual's choice ?

u=3C+4T

ol wTgR (ot 4o TR (St FACS i@ | AW IR 8 T BI9IAI 27, @ (OISR
o [Feia 7Hafs 20 2

b) Find the level of output at which the average cost curve corresponding to the

following total cost function, reaches its minimum :

C(Q)=092%+1.
M B < (A T [ART 2, w0l (S TAMA SR G] 1Y IV (@ IJAR AT
(TR 2

ClQ)=0Q2%+1.
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c) Under what condition would the long run Total Cost Curve ( LTC ) be a

positively sloped straight line through the origin ?

d) Of the two parallel demand curves, the one further to the right has a smaller

price clasticity at each price. Explain.

qfo FAuraarE sifEm @A sy, SePFIPe qEas] biizal @fdd v fRfeyes, fsft wm

T Q| N

c) Explain why, in a two commodity world, both commodities cannot be inferior.
simultaneously.
2. Answer any one question 1 x8=8

A consumer consumes two goods X & Y and prefers any bundle with more X,
regardless of the amount of Y in the bundle. At the same time. if two bundles
contain equal amount of X then he prefers the one with more Y. Draw an
indifference curve to present the preference. If you are unable to draw such
indifference map. briefly explain which axiom of choice has been violated in

this case.

OTT (TG X QR Y IR 96 &3 I BTY 93 Q-G T TINA Y- sAfautier a2 Aps 1
@A, (N AR X e Go1R @) oew Fcd | 9@ 7oA, I 95 w9 eI et X
ANCE, TR (FOTS (@ AR Y T2 GIBIR ¥ I | 98 AW ©F (@RS 9T fmaesr®
A TABI Wza T34 | I Ao @I TWive @A Fa1 79 J1 T SR A" TG (T

TGOl CRCY T FUCR 1 HTHP I 39 |



b)

c)
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Consider an individual whose ulility function u=C,.C, , where C, & C,

represent present and future consumptions respectively. The individual has an
income of Rs. 110 in each period and can borrow or lend at 10 p.c. per
period. Find out the optimal amount of borrowing or repayment for each

period.

il (91 s Sorel eigorwel 2 u=C, . C,. @A C | 8 C, 27 JIGTH 1A
@ widase corerg A | 2B AnadiE Tfea IR 110 BIF 9ag 10 o AR (SIGT A9
wce 41 Ace Ntz | 9l ATt ek sicdiey a9 @Sy & (wey AN [y Fwa |

Q = 10V LK is a production function, where the symbols L = Labour and
K = Capital. Indicate whether production function exhibits constant, increasing
or decreasing returns to scale. Does the production function exhibits
diminishing returns to the factors ? If so, when does the law of diminishing
returns begin to exhibit ? Could we ever get negative return from the cost

function ? 44+2+1+1

Q = 10VLK 93> esilia STstsd, @RE L = 3 € K = T[54 | SeoAMe STerw{t 7R,
RN T AP fSaiea [ avefa SR Sl i | S SerRl [ ENgeTm
Aife Serfiva (4fy e @ace 2 3 O 31, (W IFS (A © Y7fa A1 OF FACL 2 BAH
TAREH (A PAGIT (Bl A efforin sirew 73 2

Answer any two questions 2x15=30

i) Distinguish between Hicksian substitution effect and Slutsky

substitution effect.

ii) Prove that ordinary demand curve has a greater elasticity than the

compensated demand curve fer normal goods. 10 + 5

gl TP (A FieiRe BRA G AR 5ikm @l wievms vifn @R (A
sifyeeq fBfogaie
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b)

c)

d)

i)

ii)

8

Prove that, for any production function homogeneous of any degree,

expansion path is a straight line through the origin.

AIGOF ( @-cin MfaF ) TAM S CHTG A9 212 efdy i aaf
AL | 2N BEA
Draw an indifference curve for a consumer for whom commodities for

consumption are ‘good’ up to 6 units and thereafter commodities for

consumption become ‘bad'. 7+8

QG (O Gof G5 Waols (@ ST FEF A0S G 6 I9FF AAY GOl &)

SIE” 9a. 9 S (SIR &5 Ao BRI dAfdsifde 2w |

Explain the weak axiom of revealed preference. Using this axiom. show that

suubstitution effect of price change is negative.

i)

i)

Can a perfectly competitive firm maximizes profit by operating in the
downward sloping portion of average cost curve in the long run ?

Why ?

dIfe® a5 aia FRaR sired sy aqtet gafo s efsca @il (@ wuqe wicen
FAT AW (A0 {2

Under what conditions will the long-run industry supply curve be

negatively sloped. although every firm in the industry has a rising

marginal cost curve ? 7+8

o & =18 qafb = afSrniareigee Raa @em @R ( AdeR ) o 4dge
2q, afve Ficsa ofeft wita eifés amm il B are@ 2
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GROUP - B

Answer any three questions 3x4=12

a) What adjustments are required to derive personal disposable income
from GDP ?

b) How is the rate of unemployment related to the change in GDP ?

c) Using IS-LM diagram. show how the equilibrium income and interest rate are
affected due to an increase in money supply.
IS-LM CRIbTas SNEIy (i (1 Sicefa (e gfae 0ol Sraaisy ikl € Fod 2R e
Afifow 23

d) What is the impact of falling price on IS-LM model ?

¢) Distinguish between CP! and GDP deflator index.
COISRIRT 3T 62 G4R TSR S P62 3534 ( GDP deflator ) Sy #M1efe] (R |
What are the conjectures made by Keynes about the consumption function ?
On the basis of these conjectures. draw the diagram of consumption function.
Colsl Bitoast WFs (FRACR SREmel [ 6 2 @3 wqamolen fSface o sicmwe
cailowfs orae @ |

Answer any one question 1x8=8

a) Suppose that the Government raises taxes to balance the budget. What will be

its impact on income and interest rate ? Show it with the help of IS-LM
diagram. Now suppose that the monetary authority wants to hold the interest
rate constant. What policy will be taken by the monetary authority ? If the
monelary autority wants Lo prevent the tax increase from lowering income,

what policy will be taken by the authority ?- 2+3+3
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b)

c)

{

a)

b)

c)

A Pl QIS D ST BelId Giolf HAPBIG bt Jfigy AR | IR G HHE ZITAL B4 9o 2hold b
904 ? IS-LM (<IfbTad LIy Gl aaw | N % Q8 g eidfs $oms Jma Qe
976 10 HI3ER | Qe Wifdfe agors B NS g waa 2 g T g wm
2P (A Tl 2AfSTig B0 b1 0(d (B RS AZe B4 ¥

What is consumption puzzle ? How is the puzzle solved by the Permanent

Income Hypothesis ?. 2+6

colesld aiat f 2 9T @R &9 (84 ( Permanent Income Hypothesis ) 315 @3 «i4i
foica wligiv @z 23 2
i) How will you treat inventories while accounting National Income ?

SIS SR Sl (03 SIS wigTcs wisiA-fvelca Reasan watan 2

ii) Does real GDP adequately measure an economy’s well-being ? Give your
views. 3+5

GG Sreradld Besiin @ YR sidtafes @ SAfasns g 2 SR Tome
faer |

Answer any {wo questions : 2x15=30

i T8 W\g

Determine the government expenditure multipliers in the simple Keynesian
Model and the IS-LM model. Explain the economic significance of the

difference between the two multipliers. 10+ 5

AT (IR SICLE € 1S-LM A06TeT gy IR aee Rdiaa asza | 93 qfb wacer e
ilefers [ wtifod Siesry fofd aca ©f 1 a3 |

“Fiscal and monetary policies differ in their impact on the composition of

aggregate national output.” Explain.

omfEe SIS QI NI 8E Aol [Eia 4414 Cwta drery Aife @ wifdfe Tfeq uew

Ay =T A 17 YISl |

i) tHow will you derive aggregate demand curve {rom the IS-LLM model ?
IS-LM W0S(etd >R Siwifa {dwica Amifae vifgul (a2 siwe 3acda 2 -

ii) Using IS-LM model. show how the Keynesian model of national income
differs from the classical model. 7+8

IS-LM SI(GTEIa PRI FEA (PELTA WGEEt SR el @ gifiaret scote wm Rdean
wedy w12 A |



d)

i)

ii)
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What is the limitation of Keynesian Absolute Income Hypothesis ?

How does the Life Cycle Hypothesis of consumption propose to

overcome that ? 5+ 10
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GROUP - A
faots - &

Answer Question No. 1 and any (wo [rom the rest.

1. Answer any five questions 5x 4 =20

a) State with reasons which of the following variables are discrete or continuous :
MNwa peidafdd 34 (Ae @WD Rika qa (@ Sfaftka beie ©1 yfediz a5 3

i) Height of persons in centimetre.

ii) Yield of potato ( in quintals ) per acre in different plots of lands
fafes @fice efe aaicq eie)g Besima ( $25c )

iii) Number ol members in a family
TR M AL

tv) Age of college teachers.

FTEG Prmsaeicera a9 |



b)

c)

d)

e)

g

h)

i)

)

13 ECOA(HN)-02
Let x assumes only positive values. Show that arithmetic mean of reciprocals
of x cannot be smaller than the reciprocal of its arithmetic mean.

44l TP x (IWING LHIGD T A2 I | S@ (IR (T x93 TEIGEa Q@@ 16 J@fas
NTTA SRR (HCU FINZ PN ZCO AR AL |

A variable X assumes two distinct values O and 1. Of the total number of
observations. N, the fraction p of N are ones and the fraction q of N are zeroes.

Find the mean and standard deviation.

OBF0 5:1F X~93 (LTI Yo T\ B MR 0 @R 1 1 ¥ @% N RIS AR p o™ @&
QR q O X T SR AN o1E @ s QS fAefa a

What do you mean by Lorenz Curve ?

AW (@A 709 b @ 2

What are the important properties of normal distribution ?
el e owgeyd tatRjaf & /& 2

A card is drawn from a well shuffled pack of cards. Show that the appearance

of a king and the appearance of a heart are independent.

9T A3 O (A 96 OB BT 2 | HRIM (T AR ST @R FI6 ST JIFR

How can you define skewness and kurtosis ?

sferaasy w3k Sraer Awel fFela (m 2

Assuming P(A) > 0. P( B) > 0. examine the following :

AT P(A)>0 P(B)>0, OX IBIR 3% 3

i) If A and B are independent events, will they be mutually exclusive ?
T A 9 B F1EA G541 27, O1Z0H Ol P s a2

ii)- If A and B are independent events, will A€ and B € be independent ?
A A 93 B FIqR 961 27, O A € 93 B C FITR 961 A 2

What is the distinction between chain base index number and fixed base index
number ?

(e 35 i Fafefas a5 Wty el & 2
IfP[X=3]=P[X =4] for a Poisson variable X, then find the mean of

Poisson distribution.
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2.

a)

b)

c)

a)

b)

c)

Give two examples where the median or. mode rather than arithmetic mean

would be the appropriate form of average. 4

If Y=a+ bX and M, is the mode of X, then show that modeof Y=a+ bM .

4

Y-93 RPleF A= a+ bM .

Monthly income of an employee was Rs. 800 in 1995. The consumer price
index number was 160 in 1995. It rises to 225 in 2000. Calculate the
additional dearness allowance to be paid to the employee if he is to be rightly

compensated. 7

Soe At aagia 3 WFe SRl fed 800 Biwt | Save e oMl viN 3o 31 iz 160
3% @1 2000 AICHA (@06 2 225 | (13 a9 I Toye #fovjaq fee 23 wa oiw o
wfsfae T2 e fare 204 @1 R sa=

What are the differences between the measure of central tendency and the

measure of dispersion ? 5

For two values, say a and b (a < b)) of a variable X. the mean and standard

deviation are 25 and 4 respectively. Find the values of a and b. 4

X be1C3 6 WH a @R b (a < b )-9¥ s sie € e Rpsfe auiasr 25 @42 4 1 a 9
b 9% 3R R 33 |
Two samples of sizes 40 and 50 have the same mean 53 but different

standard deviations 19 and 8. Find the standard deviation of the combined

sample size of 90. 6

qfS sy QRS 40 W3 50, SItrd (9 516 HTH GR 81 53 g @it Huje [Qpifea s
fon wae Giafd 19 Wk 8 | 90 winreA A8 »f¥fere aywiba Hwas Rpifs Fefu dwe |

What is cost of living index number ? ow is it constructed ? 2+4
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b) It is stated that Marshall-Edgeworth index number is a good approximation to
the ideal index number. Verify using the following data : 6
Year 1990 Year 2000
Commodity Price Quantity Price Quantity

(in Rs.) (kg) (in Rs.) (kg)

A 2 74 3 82

B 5] 125 4 140

C 7 40 6 33

@B 61l 2 @ efle-ageud spe FAT w oo A Frgrerly | fenfs e s

ARIC AR 7 3
A 1990 = 2000
LLLEC w1 (B ) offarrte 1 (O ) offae
( s ) ( 3fers )
A y 74 3 82
] 5 125 4 140
C 7 40 6 33
c) if two random variables X and Y are statistically independent, then show that
E(XY)=E(X).E(Y). 3
E(XY)=E(X).E(Y).
a) For a Binomial distribution with parameters m and p, establish the following
relationship
1 _ d#r is the rt" al t 5
pq.pr”—mrpr_l-r dp where M, is ther order central moment.

b) State and prove Bayes' theorem on probability. 5
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c) A rifleman can hit a target on a single trial with probability 0-7. Suppose that
he fires 5 shots at the target. Find the probability that he will hit the target at
least once. 5
9P IFIANY 9 A HBRETS WO GA1 AT 0-7 | G ) WP fSf0 5 q1q <
RIteR | foft (1 TBS: qadld TGOS IS SIE O1 FGIaAT [y w6 |
GROUP - B
fTetal - ¢
Answer Question No. 6 and any {wo from the rest.
6. Answer any five questions 5x4=20
a) Consider the utility function U= q, q, and the budget constraint
Y=p,q,+p,q, . Find the demand function for q , and q, .
41 T BAQIN SABE U=q, g, FRACEE (A Y=p,q,+Pyq, |
q , 9R q, BEEA BI{RuT Sicopaeas fodfy wen |
b) HMRTS = :‘(‘::23 ., then show that (L-2)2 4+ (K-3)2 is one form of
production function.
MM MRTS |, = }ﬁ:% R, B (A @ BeAWA S 9ol argfe g
(L-2)2+(K-3)2
c) Suppose that a consumer in a two-goods world has a linear indifference curve

with a slope that is everywhere equal to - ; . What is the equilibrium
consumption of the two goods X and Y when p, = 1. p, = 1. and income is

Rs. 1.000 ?

@b S @G 0 445 Wk AR It G@aa (avorg Macos adia oo s1deitalie &7
T bl Hde - 3 53, O(d WR X 9 Y war yBe erming @@a sfand v zrq, 3

Py=1.p,=1 9% M & 1,000 GId ?



d)

e)

g

h)

i)
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Suppose that consumption function is C =10+ 05Y ,.Y, represents

disposable income. Investment function is I = 140. Government expenditure
G =540, Export ( X ) - Import (M) =-90. Taxes ( T) = 0-2 Y. where Y is

income. Calculate the equilibrium GDP and budget detficit.
4l W4 Colw BB Z6f C = 10 + 0-5 Y . QG Y, 261 = o | fafcns

SIS (1) = 140, ¥ G (G ) = 540, IWA ( X ) - SWWH) (M ) = - 90,
FA(T)=02Y, QUMW Y 28 G | SRHW (M6 TSR TesNva @R 41(&b 9i6fe faef
IEA |,

Obtain the ecquilibrium values of national income Y and savings S for

consumption function C =25 + 0-7 Y, investment function =5 + 0-2 Y.

What will happen to equilibrium saving ( S) if autonomous consumption ( C)
falls to 20 ?

oIl SioPd C =25 + 0-7 Y, REGRNS wicsima 1 =5+ 0-2 Y 8¢, SIS oM (V)
g HWY (S )94 S W [ d2aq |

ft RS (SRR ((C) L IR 20 T, G ST ey [FOIE Af{afSo 474 2

Suppose that the production function Y = f( K, L) is linear homogeneous.
Show that f, L= f, K?.

QI Y = [( K, L) %61 (3 AueiERI B Seorae |
MA@ [, L%2= [, KZ.

Calculate elasticity of substitution of capital and labour between K and L for

production function @ =L%*+ K% O<a< 1.

@=L*+K®%* 0O<ac<l.

Consider a two-goods world. Suppose a fall in price of one goods g ; leaves the
consumption of g, unchanged. What is the price elasticity of demand for g | ?

Gl g B2 o wem QAIE 90 ¥y (ieTl SR | 441 TP q | UL4E MIGId FICTY ¥
q , 4R ol Wi AR 1904 g | T bIfRMIR v Rifegivienet (@ 20 2

FFind the cost functions associated with the following production functions :
J(K. L)=K+L: f(KL)=min|K, L]
4 1

fasfcife Sestiua wcopriaalcia it 4 Qe fdiae a3

J(K.L)=K+L: f(K L)=4%|K. L)
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J)

b)

c)

b)

Assume that short run total cost function of a firm is

C=q®-10q2+ 17 q + 66. Determine the output level at which the firm
maximises profit if price is Rs. 5 per unit.

4ql e 9ol Gl AT GG 4R A3 2T C= g2 - 10 g2 + 17 g + 66 1 T W
Qad 26 5 T G, 6Ta Yellet A4 BesAw(Ad “Afdanel (ol G |

Il the utility function for two goods is U=(X+2) (Y + 1) with P, = Rs. 2,
P, = Rs. 6. and income is M. find the individual demand for X and Y using
Lagrangian multiplier method. 8
afi yfS acwa s QIBe Wewd T U= (X +2) (Y + 1), QR Py = 2513,
P, =65/ QR I M 3, 6T NG oo omafo 4L DA X Q4R Y99 22 oL
sifan (e @

Given the utility function of the consumer U = aX, +pB log X with

2 ,
(o. B ) > 0. explain the shape of the indifference curve. 4
44l Yl Col@ld @ﬂmﬁf\'ﬂ P () = axl + B log x2 , (U ( o, ﬁ ) > 0, o4
fagcote carg onphs facsRie el |

Given C =200 + 075 (Y-T). I =200-25r. G =T = 100, derive the
equatton of the IS curve. 3

e IR C =200+ 075 (Y-T).1=200-25r. G=T =100, IS-(4414
silage Hefy owa |

Suppose an industry consists of 100 firms with identical cost functions.
C,=01 q:‘." +q,+ 10 (i denotes i'" firm ). Calculate the aggregate .supply

function in the industry.

If the industry demand function is given by D = - 400 p + 4000. calculate the
equilibrium price and output in the industry level. 5+5

Al Fies 96f5 FIcst Soofb il Aty itia 4 Seorwe wifer ek ©f 29
C,=01q7+q,+10; i & o0 ¥, FGR GIS QI Sicoms fRefa e |

af fécsra 518w eicoPse 21 D = - 400 p + 4000, ®(a HER VI SIFTY 9N 938
Gevimcna oAfaane facfy eea |

Suppose the demand function is given by P = 8 - 3q and the cost function is
C = 3 + 2q. Find out the profit maximising level of output, price and the
maximum amount of profit. 5

g1 Al BIfRUT ior®d P = 8 - 3q 9 G WIMHP C = 3 + 2q | YA HHHEL
Berlucera sifaane, uv Qg 3o Yaretg sifdme Fef s |
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A firm uses only labour and his production function is X =0-1 L3+ 6 L? + 12 L,

where X = outpul per week in ton, L = no. of labours used.

OB 1] e (Baeira =i FRI5 G0 933 B e STorHs 56

X=01L3+6L%+ 12 L, QAR X = AfS HAI(R Bt Beoiva, L = =S fcaiestd «ifawia

i)

ii)

iii)

b)

c)

IHow many persons are employcd if the average physical product of labour is

maximised ?

How many persons are employed if marginal physical product of labour is

maximised ?

What quantity of X is produced when average variable cost is minimised ?

U 916 AAfdeEemMNe dR1Ce HEAN $400 2, WE 6 Gad X ¥d) BeoAlrd $ACLe ?

5+5+5
Define the concept of global and local maxima. 4
HufEe @ TR difadaceta et fam |
What is meant by homothetic production function ? 4

caIcmAfbe Sesinia P A0S 3 @rcam ?
Show that the production function Q =log L* K'! - % is homothetic but is not

homogeneous. 7
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